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17-A total translation in which the selection of TL equivalent is deliberately confined to one rank,in
the hierarchy of grammatical units is called ......................... .

1. rank-bound translation 2. partial translation

3. restricted translation 4. free translation

18-Determine the type of meaning relationship holding between "yellow-brown".
1. Complementarity 2. Converseness
3. Incompatibility 4. Hyponymy

19-Which notion is not related to the following definition?
"Word or words representing an independent meaning."

1. Lexical Item 2. Lexeme 3. Vocabulary Item 4. Content Word

20-They chuncked it at the cops,and then did a bunk with the loot.
1. 2.

25318 Jy575 1, By yus Il WS sl S,k Jlsel b
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21-What is the meaning relationship between "parent-child"?

1. Converseness 2. Complementarity

3. Antonymy 4. Hyponymy

22-Which one has three modifires?

1. Russia's military command 2. an intensive training course
3. a non-heat-generating laser 4. many other economists
23-Cultural untranslability occurs when a...........ceeeeeeeennnnneee. is absentinthe .......cccevveiiirennnnnns .

1. linguistic feature/utterancer
2. linguistic feature/SL or TL
3. functionally relevant feature/the system of SL

4. functionally relevant feature/TL culture
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24- Among the following four situational features, which one is common to both languages?
The boy(returning home)to his mother:

I twisted my ankle. 3,95 g by o

1)speaker

2)twisting

3)speaker's ankle:recepient
4)speaker's ankle:performer

1. No.2 2. No.3 3. No.1 4. No.4
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1)Will you lower your voice?
2)Will you belt up?

reflected meaning -¥ connotative meaning .\

referential meaning - affective meaning .Y

26-In which one,the type of translation rendered in TL is communicative?
T SL: ggine clilss Jlaxi
TL:It is forbidden to use tobacco products
SLidgds (oad je &5 @y 0900
TL:Without taking pains you can not gain any treasure
3. SL:NO refunds
TL: 05l sod 00l ey Jo
4. SL: Keep off the grass
TL g3 pod ez (59,

feawwl suis ol cwln Joluowyle plas gl p p) oo @y asgi b —YY
In the event of all-out army attack, Slovenian militiamen would take to the countryside and fight a

war of attribution,using hit-and run attacks to wear down the enemy and cut its supply lines and
communications.

would take to .Y In the event of .\
PRSP E595 D90 50

hit-and run attacks -¥ fight a war of attrition .Y
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28-A lexical item which has not a meaning of its own but is used to relate the content words to one
another in a syntagm is called ........................ .

1. idiom 2. collocation 3. structure word 4. content word

29-1n which one the lexicalization strategy employed is using the existing TL words or combination of
words to refer to the new SL concepts?

1. guard ;L& 2. skelton s

3. guest-house wlsslogs 4. texture Ll

30-Which one has the same figurative meaning in both Farsi and English?

1. horse 2. dog 3. owl 4. pull
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